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Mandatory or Optional : Mandatory
Number of Questions : 21
Number of Questions to be attempted : 21

Section Marks : 25
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 233667482
Question Shuffling Allowed : No

Question Id : 23366712081 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No Question Pattern Type :
NonMatrix

Question Numbers : (1 to 5)
Question Label : Comprehension

Read the passage and answer questions based on the passage:
Moral education centres upon this conception of the school as a mode
of social life, that the best and the deepest moral training is precisely
that which one gets through having to enter into proper relations with
others 1in a unity of work and thought. The present educational
systems, so far as they destroy or neglect this unity, render 1t difficult
or impossible to get any genuine, regular moral training.

Sub questions

Question Number : 1 Question Id : 23366712082 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

According to the writer, the school 1s a form of
Options :

.« individual existence

, » religious life

, «» Spiritual life
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. » social life

Question Number : 2 Question Id : 23366712083 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Moral training, according to the passage, effects
Options :

. »aunity of work and thought

, . entering into proper relations with oneself
, » the skills of work

, « the skills of thought

Question Number : 3 Question Id : 23366712084 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The writer’s attitude to the present education system can be described as
Options :

1.v Critical

, « adulatory
, « defensive

. » indifferent

Question Number : 4 Question Id : 23366712085 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The central concern of the passage 1s
Options :
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.. spiritual education / spiritual training
, « work education / work training
, » moral education / moral training

, « thought education / thought tramning

Question Number : 5 Question Id : 23366712086 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Find the word from the passage that 1s a synonym of accurate
Options :

.« Conception

, « Neglect

;. v Precise

. « Genuine

Sub-Section Number : 2
Sub-Section Id : 233667483
Question Shuffling Allowed : Yes

Question Number : 6 Question Id : 23366712087 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Correct the underline word in the sentence below, by substituting with the correct word
I pray for god to give me strength

Options :

.. regarding
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» v 10
3S$'Of

. » with

Question Number : 7 Question Id : 23366712088 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

I think he 1s honest man
Options :

2. v dall

3_&38

.« no article

Question Number : 8 Question Id : 23366712089 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

This 1s car my friend bought last week
Options :

1_¢the

2338.11

3.8 d

4 = no article

Question Number : 9 Question Id : 23366712090 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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Indeed, I am not sure his success
Options :

1.« Of

, «regarding

;. » about
4. % Off

Question Number : 10 Question Id : 23366712091 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

They saw him fell his horse
Options :
.« after

, » against
3. % Of

4. v’Off

Question Number : 11 Question Id : 23366712092 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The will meet again, to discuss the matter
Options :

1. = Comittee

, « Commitee
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;. v Committee

4. Comitee

Question Number : 12 Question Id : 23366712093 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The Cricket team are in a mood

Options :
.~ buoyant

, » buoyent
, » boyant

Question Number : 13 Question Id : 23366712094 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Had he studied hard. he passed

Options :
. = has

, « had been
; »would have

. » have been

Question Number : 14 Question Id : 23366712095 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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[ wish I her address

Options :

.« know

, « have known

, » may know

.. v knew

Question Number : 15 Question Id : 23366712096 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Incredulous means
Options :
.« obliterate

, » skeptical

. » practical

, » Insane

Question Number : 16 Question Id : 23366712097 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Precipitous means
Options :

very steep

.. very deep
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, « presumption

, « hascent

Question Number : 17 Question Id : 23366712098 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

1s a synonym for ingenuous

Options :
.« Clever

, » Ingenious
, v honest

, » Indecent

Question Number : 18 Question Id : 23366712099 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Keenness 1s a synonym for
Options :
.« abjure

, »enigma
. skip

4 v aACUIMen

Question Number : 19 Question Id : 23366712100 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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Invincible 1s an antonym for
Options :
| »conquerable

, . transparent

, « f1asco

Question Number : 20 Question Id : 23366712101 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Change the following into a simple sentence
He wanted to play with his friends and so he finished his home work quickly

Options :

.« As he wanted to play with his friends, he finished his homework quickly
, « S0 as to play with his friends, he finished his home work quickly
, « He wants to play with his friends and they he finished his home work quickly

, »In order to play with his friends, he finished his home work quickly

Question Number : 21 Question Id : 23366712102 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Change the following sentence into a complex sentence

“Despite several obstacles, she succeeded finally”
Options :
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. In spite of several obstacles. she succeeded tinally
, « Not withstanding several obstacles, she succeeded finally

. »~ Though there were several obstacles, she succeeded finally

, « There were several obstacles and still she succeeded finally

Question Number : 22 Question Id : 23366712103 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Change the following sentence into passive voice

“I saw him opening the door”
Options :

.. I'saw the door and he was opening it
, « Opening the door, he was seen by me
, » I saw the door being opened by him

, « He was seen by me while opening the door

Question Number : 23 Question Id : 23366712104 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Change the following into active voice

“I was kept waiting for two hours by him”
Options :

.« I waited for two hours because of him
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, . He kept me waiting for two hours
. » He 1s waiting for me for two hours

, « | was waiting for two hours for him

Question Number : 24 Question Id : 23366712105 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Change the following into indirect speech

“I will bring my laptop tomorrow”, she said
Options :

.« She said she would bring my laptop the next day
, » She said that she would bring her laptop the next day
. « She said she will bring her laptop the next day

, « She said she would bring her laptop tomorrow

Question Number : 25 Question Id : 23366712106 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Change the following into direct speech:
“She said that she loved pizza so much”

Options :

. »She said, “I love pizza so much”
. She says, “I love p1zza so much”

2.
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, « She said, “T loved p1zza so much”

, « She says, “I loved pizza so much”

General Knowledge

Section Id : 233667403
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 15
Number of Questions to be attempted : 15

Section Marks : 15
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 233667484
Question Shuffling Allowed : Yes

Question Number : 26 Question Id : 23366712107 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The primary function of the Election Commission of India is to:
26 D) S0 Voo BNE), FSE DE:
Options :
Formation of laws
-, BEro drododeo
Conducting elections
. D) Sen DECoiio

Pass budgets
- 2GSV BdrBoditio
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Managing Parliament sessions
, ¢ G0N DIEDTO DEPocsto

Question Number : 27 Question Id : 23366712108 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The largest freshwater lake in India 1s:
25333065 O3S S00DA DOAN:
Options :
Vembanad Lake
a DoLyTE RBGROY
Dal Lake
5 ‘rbci‘r’\ljb
2. B
Wular Lake
» rOd DOy

Chilika Lake
iy WO “c()d“’aﬁjb

Question Number : 28 Question Id : 23366712109 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The term "carbon footprint" refers to:
"SUEND FEHNG" 9D Do IB ATFDOA:
Options :
Growth of forests
e 098D DA
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Water pollution levels
DS ST FraWe
2. % @

Total greenhouse gas emissions
_, 2o ARTTR T°080 ETPTTe
3.¢ -

Fuel efficiency of vehicles

TP RO G0
4% &

Question Number : 29 Question Id : 23366712110 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

India’s first mission to study the Sun is:
‘&de?sd.f) @c::?gojoéo DODTAS 2B F0 033052: D0 & fo:
Options :
Aditya-L1
, 868 -L1

1. %

Chandrayaan
) % S0GOIrPS

Surya-N1
L« 0] -N1

Vikram Lander
i} DE0 w5oa5

4.

Question Number : 30 Question Id : 23366712111 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
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Correct Marks : 1 Wrong Marks : 0

The 'Green Revolution' in India was mainly associated with:
PERB0S” PO DNH0' DEPDOT AIE ANEDE &od:
Options :

Irrigation reforms
| BT Do) Graen

Industrial development
i O DDHE

2.

Agricultural productivity
» OO eSS

Environmental protection

KJU"?S{)C)C’B rolale k=]
4. %

Question Number : 31 Question Id : 23366712112 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following 1s not a fundamental right in the Indian Constitution?
$08 TOS” e TrarjoriodS FEE Py, TIA J&?
Options :
Right to Equality
- VAFPRSC T°8),
Right to Property
o3 IV
2.4
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Right to Education
DT] PE);
3. ®

g01.digialm.com/CAE/viewHtmIPDFAction.action

Right to Freedom
) o
L RGEY Jé)b

Question Number : 32 Question Id : 23366712113 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

UNESCO stands for:
Ai0JY, e0e3:
Options :
United Nations Educational, Scientific and Cultural Organization
| DETragdd Doy, Fo05 0BOKN For) B VoY

Universal Science and Culture Organization
|, GBPIDBNS DOy w0l SONG B3EIBNS

United Nations Environmental. Scientific and Cultural Organization
| DEFOPRIDDS HOH6E, ?v?iqij BB030 o) 4B 208
3.

Union of National Education. Science and Culture Organisation
| A0 DAY, DFPB0 QBN VOB R WoFWo

4,

Question Number : 33 Question Id : 23366712114 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The Indian Parliament consists of:
26 G0t RD Gotrow:
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Options :

Lok Sabha and President
13@ ¢5°625 doBatw RIGHIEICD
Lok Sabha and Rajya Sabha
, 67608 dodas Tragss
Lok Sabha, Rajya Sabha and President
| 880, Tragdz S8ain e L

3.

Rajya Sabha and Supreme Court
|, TRz Sndaty ROQE

Question Number : 34 Question Id : 23366712115 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The capital of Uttarakhand is:
&STeDol TRED:
Options :

Mussoorie

. {1}353638

1.

Nainital
L x DS

Dehradun
, L EFErS
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Haridwar
s
L Jémvcsé

Question Number : 35 Question Id : 23366712116 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which Indian River 1s known as ‘Dakshina Ganga’?
'GE6 ffoff 09D DLVIWE LGB DO AE??

Options :
Krishna

| % 2

Godavari
> v Boedb

Kaveri
3. % 508

Mahanadi
4. 8% 0TBIE

Question Number : 36 Question Id : 23366712117 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

'One Earth, One Family, One Future' was the theme of which recent international summit held in
India?
‘28 P, w8 Sr00e0, 28 BB’ WO DO erEBBFS” 2OAD O e90Tr3aD IT°(

DATDE0 ABDB0?

Options :
G7 Summit
» G7 22070 DdrDdB0
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SCO Summit

G20 Summit
;. » G20 220°3 DATDFO

BRICS Summit
4 % BRICS ‘QQJU"Q DATDRO

Question Number : 37 Question Id : 23366712118 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The primary role of NITI Aayog is to:
DS e3A3rH g IR FG:
Options :
Conduct elections
a D) Sew .Sdsijvcf.’)c:‘,o

Formulation of policies and strategies
, dorren dain Yristoy drdodotico

2.

Collecting taxes
| DR0) o0 SRren Badbo

Enforcement of laws
| DO e9s0e0 oo

4.

Question Number : 38 Question Id : 23366712119 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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The first Indian woman to go mnto space was:
90e38£065°8 DV ANGES wEBAH LTV
Options :
Sunita Williams
1. ®
Kalpana Chawla
s 4 SONT® T°°

Ritu Karidhal
3 % 8930 §5C5°E'S

Tessy Thomas
B2y TR0
4, %

Question Number : 39 Question Id : 23366712120 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which country recently exited the European Union (Brexit)?
RBDL CLETDADNS CLEPAAHS (B3385) Aol Di;eDD B30 DB?

Options :
Germany

- ee,ciéi’)

France

 « T
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Italy

United Kingdom
4 »OIVJBE SoAcia

Question Number : 40 Question Id : 23366712121 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

‘Mission Shakti” was related to:
‘AN 23 A D0Lr0BoVD:
Options :

Women's empowerment
| % Q0T JPOS G

Anti-satellite missile test
, v EDe DBGE 8Hed DOs

Cybersecurity program
- ped B@Te seEigo

Skill development for youth
, QI0DBL JaDETDOE

4.

Teaching Aptitude
Section Id : 233667404
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
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Number of Questions to be attempted : 10

Section Marks : 10
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 233667485
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 23366712122 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The purpose of formative assessment 1s:
Qo7 B S 9oDT> AE); &B3o:
(&)
Options :
To assign final grades
B0 oo 9@30{50(‘.3353

To evaluate teaching staff
- 5T 2e30BD B0 BoHrS

To improve learning while it 1s happening
|, ergR0 2SO QY Ty EDDESEIS

To promote students
, » TR0 T 2o dS

Question Number : 42 Question Id : 23366712123 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which learning theory 1s associated with operant conditioning?
) E.‘J&_J"S&} 33%5"09:‘90 238800 L0 NDoAE HAVEDE &od?

Options :
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Piaget’s theory
VOIS Hrocho
1. % @
Skinner’s theory
2. 2
- 2,96 dgeotho

Maslow’s theory
AN Dorotho
3. % @ ®
Gardner’s theory
rPgK)S facgo@o

4. %

Question Number : 43 Question Id : 23366712124 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

A democratic classroom environment encourages:
DEPI(RV BOHS (50 TordHGE0 IO Ty 2r0d:
Options :

Authoritarian discipline
|« O350 S0ILe

Passive learners
- Qﬁcﬁyeﬁés @wén:}sbw

Student participation and dialogue
| dgdow A D)0 0BAID Doarae
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Teacher-centred teaching
, « GFTEiO-B088y 56D

Question Number : 44 Question Id : 23366712125 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which one 1s an example of intrinsic motivation?
90BES PO ETPTPEER IO
Options :
Prize for winning
|« B9DB0CL LTV

Fear of punishment
2. & %u% EijJO

Desire to learn

| StnEared £84
3.

Parental pressure
L« B0GoghHw wBa

Question Number : 45 Question Id : 23366712126 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

A teacher using Bloom’s Taxonomy should aim at which higher-order skill?
Qe S0 TP GOATHOD ST D &I S Frow PRI VLT S d?
Options : =
Remembering facts
|« TRTPO GoE Deko
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Applying definitions
|, DBgETEOL HYodSaEe

g01.digialm.com/CAE/viewHtmIPDFAction.action

Creating new knowledge
£ ) oo

3. ¢

Understanding rules
, Doaro edo S oo

4,

Question Number : 46 Question Id : 23366712127 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

In pedagogy. ‘feedback’ helps:
eSS TR0, ‘WDI0N0’ BIS GDATHOEIB0H:
Options :
Punish students
| DTYE0RD 330030605

Modify teaching strategies
, o TG Yoy LGyt

Give homework

s« Fodd) adgEdS

Mark attendance
4w 20 (DOotdtrdS

Question Number : 47 Question Id : 23366712128 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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Which among these promotes inclusive education?
DS DO DYV D0 F'SPR06?
Options :
Segregated classrooms
| % 0 DADED S6HB (v

Fixed curriculum
DG FT(0FRD
2.% @
Adaptive teaching methods
| oogre SO DGR
Competitive grouping
, T3 Do

4,

Question Number : 48 Question Id : 23366712129 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which 1s a barrier to effective classroom communication?
S66D (56e5° mmgm@u@a SM&S@‘@S@ E’ﬁ%oéﬁ“ aéi& DE?
Options :
Use of visual aids
. 3 D3toire TriSo

Clear articulation
) ﬁb;@é (.%CP{:]GE'B
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Language mismatch
5 v 8P DOV VED B0

Active listening
. tﬁjci)g" DACO

4.

Question Number : 49 Question Id : 23366712130 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

A good teacher evaluates students by:
2,8 000) EITHONVE DEFEO & Sob Do 0T DIJ°C:
Options :
Comparing them with others
T8 RSOOE Fonco 0
1. &
Judging their behaviour
| T°0 DDHGIL 0T Dabiio TP
Identifying strengths and weaknesses
| 22ere) Q00K LVAPIBOM HfodEo TS

3.

Ignoring slow learners
| QDO RBNITOD D Boricio T( 3

Question Number : 50 Question Id : 23366712131 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Effective teaching 1s primarily about:
DEPHD0HD 5°63, DEEdorr D (1HBD:
Options :
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Completing the syllabus
) £ o
| s R QI Baddo

Giving maximum homework
. plereliny 5 06356 Q0

Enhancing understanding and engagement
, 0BT 08050 DINTTY DoFododcio
3. ®
Following textbooks strictly
, « TOPEIRTOD DAySorr Feddocicio

Geography
Section Id : 233667405
Section Number : 4
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 35
Number of Questions to be attempted : 35
Section Marks : 35
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 233667486
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 23366712132 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

What 1s the term for the area where a river flows into a large body of water?
28 O DG O LM DD Fromrd) Do WotrEd?

Options :
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Source — &e‘.ﬁbe? 00
] % =0

, » lributary — €008

“Mouth — c;‘JL_De‘.JZ7 ! &HE Hnwo
3.

., » Meander — Ho8Gen / dHosen

Question Number : 52 Question Id : 23366712133 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The Ozone Layer lies in:
L8 TG D) ¢ &s0t008?

Options :

. Troposphere — €5°5°0na%6
, « Tropopause — S’° &

Stratosphere — ¢S° i}bojoﬁ
v &

3.

, , Photosphere — °es° D05

Question Number : 53 Question Id : 23366712134 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following layers of the Earth 1s the largest in terms of volume?
B BE), §0& TS, BT DT OBDGE DO?
Options :

 Mantle — &515"5063&5
1V
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. « Inner Core — S°0® ogo

.« Outer Core — 250308 (oo

Question Number : 54 Question Id : 23366712135 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The normal cycle of erosion is related to:
RS g, FTde BFo B3I Voe0HODIE?

Options :

. Glacial Erosion — & S0 H59 80

, » Wind Erosion — 8 815
. » Fluvial Erosion — 3¢ 50 280D

. » Marine — 200 Dotroded

Question Number : 55 Question Id : 23366712136 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which 1s the most abundant gas in the Earth’s atmosphere?
B TTO0E0ES” OBBLOTT &) A AB?
Options :

. Nitrogen — ¢’

Argon — e30°0
2. a
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_ Carbondioxide — 965}5 cicrirgbci

3.

, « Oxygen — SIENSAS

Question Number : 56 Question Id : 23366712137 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Temperature variation of the land near the sea is very little compared to that far from the sea. This 1s due to:
RANEIS BHCT &) Brerioss &ile artiyen B8y S &ocerdS S0 JE?
Options :
Sun rays are not direct
. RG] SOETRD DB DED)
The sea absorbs the heat
NPRSTvbbInly DG €28 B0

High heat capacity of humid air
- BOE €rAd mdL 0hHE DS 3S €0t000

Heat is reflected by the sea
s w G0 DECRD PBDOWOH

Question Number : 57 Question Id : 23366712138 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

What 1s the average salinity of ocean water?
Qe VANEG 2O VDEIBL0 DoS?

Options :

- 5.5
. % 10 ppt — 10 &)
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L+ 20 ppt —20 28

28

E}lm

, 35 ppt— 35

3.¢

L« 45 ppt — 45 D2

Question Number : 58 Question Id : 23366712139 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Human Geography 1s gaining increasing importance 1in:
S0 SrHY TFIS o DA FTreren DY
Options :

- 15th and 16th Century — 156 so8aiw 16 BT

_ 16th and 17th Century — 16 s08cdn 1785 BTN

2.

17th and 18th Century — 178 s08aiwn 185 BTN

3. ®

\ \_ﬁlSth and 19th Century — 18 s08a%0 195 é@"gw

Question Number : 59 Question Id : 23366712140 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following 1s NOT a major division of mankind based on physical characteristics, as
commonly understood in human geography?
FAE LT eSTPGOMT AP0 BB DB 0T PEED Derrree)” $od artdes’ DO seey?

Options :
. » Caucasoid — s*&rané&
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, « Mongoloid — 2offeroné&
. v Afro-Asian — e3P-e320090

, » Negroid — dgrané

Question Number : 60 Question Id : 23366712141 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The tribal communities of India are most concentrated in which region?
TBSB8085" ABRD PONTALTN L) O D FrothotsS Eotrdd?

Options :

.« Northern Plain — &&06 doororen

. Central and Eastern India — &5‘)@5 08010 ejJDdob 2GS

2.

- Western Ghats — ?.'J%aa‘_u gdoaen

- North-Eastern India — &6 VeV 2GS

Question Number : 61 Question Id : 23366712142 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The Eskimo makes his house an ‘Igloo” from the ice. why?
D), 00tE 'RET' Q0B oL B F?
Options :
Only ice 1s available in the polar region
L x D Fr0e50e5° Dotd) AreiRD e0c0eTenes” &otnod
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Ice does not allow cold air and water to come 1nside
L 20020 OO DO A &5°IS ToLow DT GR0E

The air between the 1ce and the walls prevents the inside heat from escaping
Sotdy Fée D06 O esotiero HY 5700 DE 0L D0t Eotod
3.
Ice 1s available free of cost, and other materials are unaffordable
4 008 EDSM VDA B VBE DET LD DOBHD

Question Number : 62 Question Id : 23366712143 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

What 1s the denominator in GFR (General Fertility Rate)?
GEFR (Jordes 099 Gew) &° 5°8er0go (denominator) DAe?
Options :

Married women

DD ST

1. ®

Women in the reproductive age group (15-49)
1549 2058070 S0HRVY (0 QDDDSNS 3“&‘3_)(350936 €530 DVTPFD

2.

Married women 1in the age group of 15-49
_15-49 Dodetyore) HaDR0E” &) DFAD oTewen

3.

All women

Question Number : 63 Question Id : 23366712144 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
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Correct Marks : 1 Wrong Marks : 0

How does the Malthusian Theory of Population relate population and food supply?
A BT 33%5"09:'90 BT 2003 €555°3 DODT® LVE] ° VOLOB0E?
Options :

Population growth 1s arithmetical. while food supply growth 1s geometrical
|, 2T (R8T 05 DB, S DEDT® 7B STry DEHBIE

Population growth is geometrical, while food supply growth 1s arithmetical
| BT aa:gibé 8@5___ 233350 DEDT" ($e3ed 6@?5 Fole b1a 01 BleTa)

2.

Population and food supply grow at the same rate
3 % BT QOBOLL €553 WEDT® 2,8 Dfod PEMT AV

Population growth is directly proportional to the food supply
| BT Dy8 e5536 DODTE AT 900l 00

4. %

Question Number : 64 Question Id : 23366712145 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Name the state that recorded the highest percentage of urban population in the 2011 census.
2011 a3 98 © PS5G0 S(BS DLEY BT F°o gOAD T°30 Daed?

Options :

L ® Madhya Pradesh — mGﬁ;@ﬁg%

Haryana — SO
2.¢

, « Bihar — 5366
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, » Uttar Pradesh — Clrlelelak

Question Number : 65 Question Id : 23366712146 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Economic geography 1s sometimes approached as a branch of that focuses on regional
systems of human economic activity.
388 BrA¥F) §I) Doy’ e For DO, BO BrdD 388 SEEerdo
00D DV 521 PDEAA.

o =98
Options :

. Cultural Anthropology — 3"0‘53@@5 DIRDTY0

_ Physical Anthropology — &3 52070

2.

e Social Anthropology — Jradre g DPRDTY0

 Anthropogeography — 50 S #%*"‘Qo

4.

Question Number : 66 Question Id : 23366712147 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Who 1s the founder of Economic Geography?
308 BrfY TR OO IHW?
Options : .

i E.W. Zimmermann — éa.c:ec._}mé. %&1}&5&&?5

1.

_J. Chisolm — &. rﬁ)ﬁﬁﬁé
2. %
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, « Carl O Sauer — 52§ & 6

, « L.D. Stamp - 5 .&. e

Question Number : 67 Question Id : 23366712148 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following factors most directly influences the spatial distribution of food production on a
global scale?
308 ©07°ef” DB Do FawE’ 5356 GG G0, FHPE DoDedD S Hardo Bra)eod?
Options :
Technological advancements in food storage and transportation
e55556 Deorg BALL Baeew FoSAES DDA

Political stability and trade agreements
TS0l ROSBL0 @B TeEdRg wRYOmTRD
2. @
Climate, soil, and availability of water
, TS0, 8 20803 B T[S

Cultural preferences and dietary habits
L w PO HBE DN SOOI IS T

Question Number : 68 Question Id : 23366712149 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Non-ferrous minerals are those that do not contain as a major component.
TD-DED DI’ DECdorT E0C 0.
Options :
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| v Iron — @08

- Aluminium — Eﬂw?gm.%odao

, » Copper — o°f

4. % Zinc — 8305

Question Number : 69 Question Id : 23366712150 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

India produces crude oil and natural gas. with one of the largest producers being:
2PGBE 306" S00E DA LOOCKN KT TOINY G D BADAE, WO 2.E A DG G ATTO:

Options :

.« Oil India Limited — esa0e5 @odais dEE

ONGC - £

2.

Resilience Industries — Bfaﬁ)cﬁ_)ﬁa @od%})ﬁ}

3. %

, , Indian Oil Corporation Limited — Q0C.0D B00S TTYTAS SBE

Question Number : 70 Question Id : 23366712151 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Obulapuram Mining Company holds iron ore mining leases located in Andhra Pradesh.
2,805 60 20Joh FonDS €303055¢5° @A DI Haren &%) 0.
Options :

| » Anantapur — @90e5a)80
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». = Guntur — (ot
, Krishna — gyar

3.

Kurnool — Sdﬁi&u
4, %

Question Number : 71 Question Id : 23366712152 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which industry is the second-largest employer after agriculture in India?
2PEBH0S° HIOIALTDodB0 Tottsd VAV & O Gotio D&?

Options :

% Iron — Q@a)AD

, Steel — &QJZT

. JTextﬂe — Y O3

e
e

, » Automobile — e3¢5°200865

Question Number : 72 Question Id : 23366712153 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

According to the Forest Survey of India 2021, which district has the maximum forest cover in India?
20 00D VO] 2021 PSC0, eded B3’ BIBE D DPGo &) B IB?

Options :

. » Mandi — &ooc

, « Chamba — &roe5
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, « Kangra — s°oQr

, » Kullu — Soen

Question Number : 73 Question Id : 23366712154 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Three-quarters of the global population resides in and :
D0 BT’ QUTPED-TEVA) TP 208030 Dot0eS” DOHDFW.
Options :

| » North America and South America — &&6 08030 G2 8
, v Asia and Africa — 30035 080D e3OSe

Europe and Australia — asoe6s doain esndass

3. %

Antarctica and Australia — @ow&bés** 08030 esfg@oiy

4. ®

Question Number : 74 Question Id : 23366712155 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which state is the most populous in India?
OB 308" BTre edBSorr &) TPRo J&?

Options :

. » Kerala — S6%

Maharashtra — :.na’ﬁmg

2. B
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. » Madhya Pradesh — DSOBF

g01.digialm.com/CAE/viewHtmIPDFAction.action

, » Uttar Pradesh — 636083

Question Number : 75 Question Id : 23366712156 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The father of the Green Revolution 1n India 1s :
2335305 A BIHVTIAD (37888 DPD0) DTV DDHE?

Options :

. « Ram Chet Chaudhary — oea0 38 F°¢0

2.

, M.S. Swaminathan — Do.DD. 5*5330;?@5
, « Amrik Singh Cheema — 90 Voh DA

, » Virender Lal Chopra — d80c36 ee5 S

Question Number : 76 Question Id : 23366712157 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

India 1s the largest producer of sugar in the world.
2PBBBB0 VDo’ OBDEG 58,6 ESITWD.
Options :

| » First — 200663

, v Second — Bold

; » Third — o5eetsd
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, « Fourth — &re0risd

Question Number : 77 Question Id : 23366712158 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Kudankulam Nuclear Power Plant 1s located 1n
80605000 e9603S Sodo &S° &od.
Options :

| » T'elangana — @eorred

, » Gujarat — (bao°S

; » Tamil Nadu — 8Q0¥ 00
, » Madhya Pradesh — :_13@35@5%

Question Number : 78 Question Id : 23366712159 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Central Railway Zonal Headquarters 1s located in:
2o §T] E0S & (P 28) ¢ &0d?

= e
Options :

.« Kolkata — &e¢5¢em

, v Mumbai — Sooe300

e Chennai — aé‘l

L New Delhi — éféé@
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Question Number : 79 Question Id : 23366712160 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

What 1s the term for making maps using a computer?
éoﬁ.’g_'j"?Se.}S relebblalelA) 6&)’”5533 xTovbileb] zf)CIiJC‘;":‘-T)& DaVotTE?

Options :

1. v GIS — 202
, Digital Scanning — c.2¢065 39, Doh

2.

. . Digital Mapping — G2ede5 m5:305

_ Mapping using a computer — 50‘@5@5 &Aoo msﬁ:)oﬁ

4.

Question Number : 80 Question Id : 23366712161 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

LANDSAT 1s a satellite series of .
LANDSAT &ddse 363 B3T7DS BoBIS.
Options :

. » Canada — 3¢z

, » Europe — oord

3 v USA — e92085°

ss Russia — (‘_531"5

4,

Question Number : 81 Question Id : 23366712162 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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Which one of the following 1s NOT a principle of Remote Sensing?
00 DE) ) THS” DB BATE 2Iyoh WrGo S°E?

Options :

L Interaction of energy with satellite — &0(53r0& 33 elersefinlels

_ Electromagnetic Energy — 3@595—&30835 3

2.

Electromagnetic Spectrum — 2)6&)595—{:’130&5 @éoﬁ@g"ém

3 ®

Interaction of energy with atmosphere — o&°dGt0& 3S el iNenlelf

4. %

Question Number : 82 Question Id : 23366712163 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following statements 1s true about Remote Sensing?
BA7E5 20 1B Gotd DE) DY VELNG” D& Ddedo?
Options :
Acquiring fo without physical contact
|, B0 €083 AT BrEL0EE DArErT) Totdcto

1.

Data collection by physical contact
| O BeEC0 TRT® Ce DECE

2.

Info via drilling
| 550 TP DOrTdo DE8e
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Info by surveys —
L ?oé&o TQO° WArErdo Fel={oor)

Question Number : 83 Question Id : 23366712164 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following 1s an example of a passive remote sensing technology?
308 TAS° DO FVD BATE DIyoh B5%) 0ES GTICE?

Options :

.« RADAR — ooeb

, » LIDAR — &6

.« SONAR — 956
Landsat — &7“50(53“&5

-

4. %

Question Number : 84 Question Id : 23366712165 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which GIS function 1s used to measure length or area?
GIS &° P For DYTR) F0OEIS &0 Hod DoLS DB?
Options :

|« Analysis — D363

- Query — 93 oo

, » Editing — dGed0h

https://g01.digialm.com/CAE/viewHtmIPDFAction.action 46/79



6/7/25, 12:20 PM g01.digialm.com/CAE/viewHtmIPDFAction.action

. v Measurement — Seeh

Question Number : 85 Question Id : 23366712166 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Mention an example of a material element in GIS.
GIS &° 28 DT & 0TI &R ROLC.

Options :
- Attribute Table — &6 KJPE.Z)S

, « Scalar Bar — ) ©6 &r6

, » Legend — 9&0é

Data Source — &Geér Q)*SQ
.

4.

History
Section Id : 233667406
Section Number : 5
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 30
Number of Questions to be attempted : 30
Section Marks : 30
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 233667487
Question Shuffling Allowed : Yes

Question Number : 86 Question Id : 23366712167 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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Who was the first independent King of Bengal?
BorrS L A D B0 T2 DHE?

Options :

| « Gopala (fFare)
, » Mahasengupta (203500003)
, v Sasanka (3¥3°08)

, » King Ganesh (o°& (i63x)

Question Number : 87 Question Id : 23366712168 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The Indus Valley Civilization belongs to the:
2060 S5°aDH TPAEBES O 57 BodIG?

Options :

|« Mesolithic period (06 JeT°a3(%0)
, » Chalcolithic period (grgy derainiio)

, « Neolithic period (ddarares a30r50)

, » Paleolithic period (Tresd Jeares aswrio)

Question Number : 88 Question Id : 23366712169 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following is more probable regarding the Harappa Script?
& S0& T°e5° Oy DD DowoBoDI IB?

Options :
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| Pictographic (2J®2)
, « Sumerian (Rr2VOAHQ)

, « Proto Dravidian (J%¢5° rddaid)

Sanskriti (o0&
4. %

59

Question Number : 89 Question Id : 23366712170 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The Great Bath was found in:
36 e ) ¢ SR decod?

Options :

.« Mohenjo-Daro (Rurarod’-oo8)
, « Kalibangan (58e00010)

; « Lothal (65°¢¢5)

L Harappa (?’.Pdibb)

Question Number : 90 Question Id : 23366712171 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which emperor has been called Napoleon of India?
2PEBBFLY) AT DR 9D IH0D DeVIPE?

Options :

| v Samudragupta (R0GMH)
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- Chandragupta Il Vikramaditya (€50&02 | bgm&mﬁm)

5 % Asoka (295°€0¢)

. Kanishka (gi’i}t‘mb@)

Question Number : 91 Question Id : 23366712172 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The first metal discovered by man was:
0DV 2005 ERFDY S5 AB?

Options :

| = Zinc (208)

, » Copper (o°f)
;. w Iron (@d0dw)

" Aluminum (e9eargodoso)

Question Number : 92 Question Id : 23366712173 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Who composed the Allahabad Prasasti?
29877335670 P FRR DD BFToRow td?

Options :

| Harisena (328)

, » Vasumitra (520a083)
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- Asvaghosha {95%'521?;1)

o Nagarjuna {mg:}é)

Question Number : 93 Question Id : 23366712174 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which was a major port of the Indus Valley?
R0 5703 ), PErd Feegao D&?
Options :

Chanhudaro (&edomd)
1. % &
, « Mehargarh (QoE)

, » Lothal (e5°&¢)

, » Kalibangan (5°®2065Q)

Question Number : 94 Question Id : 23366712175 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

What was Samudragupta's policy in the south?
mmgm@& G586 23063 POD DTedo O?
Options :

- Digvijay {éﬁsao‘.b)
- Dharmavijaya (c;ﬁd&&)a&i:}

; » Conquest (20000%¢0)
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o Philanthropy (w-efagejnso)

Question Number : 95 Question Id : 23366712176 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Who wrote Ramcharita?
TR0 DA GoTeEd?

Options :

L Sandhyakara Nandi ("’r\}OED"’?ngj Dod)

, « Tulsi Das (B000rd)

Banabhatta (eseea23e))
3. % &

, « Kalidasa (s*@araw)

Question Number : 96 Question Id : 23366712177 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Sulapani was a famous artist of the:
0D EVTSTEED POV D ALOTPIS BodNT°E?

Options :

|« Pala Period (e odio)

, » Sena Period (22 atwrio)

, « Kushana Period (S07°2 adwrio)

, = Gupta Period () cdwrio)

Question Number : 97 Question Id : 23366712178 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
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Correct Marks : 1 Wrong Marks : 0

Name the last Tirthankara:
DO DGoEEIC) DSE?

Options :

. Siddhartha (d&PE)
1. (]
, « Silbhadra (d025¢eo)

_ Parsvanath (é“dgbaﬁc:ﬁjdo)

3.

, v Mahavira (S0P DEE)

Question Number : 98 Question Id : 23366712179 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Who believed that freedom is the keynote of spiritual life?
STy & 2D NS fosz:)a DD DAY eée:‘asfbe_:gs DHE?
Options :

, Gopala Krishna Gokhale {Ff&ué;,‘&sg & )
, » Nehru (300

_ Ambedkar (@oiﬂcﬁzﬁ}

3.

, » Vivekananda (D3sed00)

Question Number : 99 Question Id : 23366712180 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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. Economic liberalisation in India began in:
POBE30° 0308 DEVECT DRDYE FEoBRH?

Options :

| %1961

, % 1971
, %1981

. »1991

Question Number : 100 Question Id : 23366712181 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Who is the author of "The Discovery of India"?
"8 GO0 5D RoCLaSr! G0N DBHG?

Options :

|« Gandhiji (ro®)
, » Vivekananda (Ddsrd00)

s Nehru (&)

, » Gokhale (Fad)

Question Number : 101 Question Id : 23366712182 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The Constitution of India is bigger than which country's constitution with only 89 articles?
20 Trargorio 8000 89 9956 &R @ G#RY Trefofio So3 Y.

Options :
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| v French (09)
, » Dutch (&8)

, « Pakistan (J*SFrQ)

, « Afghanistan (es°D3rQ)

Question Number : 102 Question Id : 23366712183 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

When did Mahatma Gandhi give the Quit India call?
S0y m™od éngéS Qo air DTPTTYY DN REPNE?
Options :

| v 1942

2. #1920

3.#1930

4 % 1940

Question Number : 103 Question Id : 23366712184 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The Non-Cooperation Movement was launched by:
53500 DTPEGER DD aPBooTEd?

Options :

. » Mahatma Gandhi (2058, Trod)

, % Jawaharlal Nehru (2:5:6e7¢5 J30r)
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. « B.R. Ambedkar (D.es6. 9:?08_36365)

, » Sardar Vallabhbhai Patel (Rg0 gzserrodd EO)

Question Number : 104 Question Id : 23366712185 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

When were the Montague-Chelmsford Reforms introduced?
270BA-BOND'G VDGR I VDB DEPW?
Options :

% 1909
)« 1911

; ©1916

, 1919

Question Number : 105 Question Id : 23366712186 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The Doctrine of Total Revolution was expounded by:
QoY DPDo 9 Sia bt INETeb OHFRoTE?
Options :

. » Jayaprakash Narayan (20053 oror0eb)

, « MN Roy (D0.9. T°0b)

. .. Gandhiji (rod)
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, » Tilak (Be§)

g01.digialm.com/CAE/viewHtmIPDFAction.action

Question Number : 106 Question Id : 23366712187 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The palace of the Nizam of Hyderabad is known as:
APETReIRE) DazPo SV DED DED?

Options :

|« Umaid Bhawan (&208 25:)

Lo 18] Falaknuma Palace (8°& DOS0&AT S7§TQ)
, ., Chowmahalla Palace (Fairer J2500)

., » Amber Palace (29086 J°(5 Q)

Question Number : 107 Question Id : 23366712188 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

First event of Telangana agitation is known as:
Borres 6308 $He5° AVEG DoTVLD DA?
Options :

% Six-point formula (3t Srowog) ) er)

, « Jai Andhra movement (& e308 &3§a00)

- Mulkhi agitation (&ﬁpg)b 508%D)

L Tribal movement (A8 u%(:’)?smo)
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Question Number : 108 Question Id : 23366712189 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

First king of Velanati Chodas?
Do) SO0 AV TEe DDE?

Options :

.« Rajendra Choda-l (-c&og Se-)
, » Gonka-l (fog-I)
- Pruthiswara (?b;@%’sdjm)

, » Rajendra Choda-ll (To&og S'zze-1l)

Question Number : 109 Question Id : 23366712190 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

which is the Capital of Velanati Chodas?
DoTrdd STOo TR 06?

Options :

.. v Chandole (508 9)
Machilipatnam (m&&)am&o)
2. 8

, « Kondapalli (E0cedd)

4 » Lepakshi (Gar4)

Question Number : 110 Question Id : 23366712191 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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The Directory governed France from:
E850 0BBC0, PRy D VoDSNTL [ FDodod?
Options :

1. 1795-1799
2. % 1789-1795
3. % 1780-1785

4. % 17851789

Question Number : 111 Question Id : 23366712192 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Napoleon declared himself emperor in:
R OADR DNy TP PESeSILT) ¢0?

Options :

|~ 1804
, #1805
3. % 1806

, %1807

Question Number : 112 Question Id : 23366712193 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The Russo-Japanese War occurred in:
OFf-2ao CIDF0 D WodSyGosS” 206A0d?

Options :

1. 1902-03
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). » 1903-04
, »1904-05

4. % 1905-06

Question Number : 113 Question Id : 23366712194 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Founder of the League of Nations:
OF 23D BiaDy DyDFRE DDE?
Options :

., Woodrow Wilson (DHES De.:r:f%)

, » Winston Churchill (DY :ﬁ@aé)
- Clement Atlee (S200¢5 eoe))

. » Mountbatten (3T 0t5eE30)

Question Number : 114 Question Id : 23366712195 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Father of the Science of Race:
HoF TR DTPAVTVED DdS?
Options :

_ Robert Boyle (ore2§ e5°a3oe5)
1Y 8

, « Luther (056)

https://g01.digialm.com/CAE/viewHtmIPDFAction.action 60/79



6/7/25, 12:20 PM g01.digialm.com/CAE/viewHtmIPDFAction.action

s « Huss (&°Q)

L Calvin (?@55}

Question Number : 115 Question Id : 23366712196 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The Great Depression occurred from:
Fobroy T°0CdS0 2 “c\}o&je‘_‘éamwée K}dgéo&?

Options :

., 1929-33

, % 1930-33

, » 1931-34

, = 1932-35

Civics

Section Id : 233667407
Section Number : 6
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 15
Number of Questions to be attempted : 15
Section Marks : 15
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 233667488
Question Shuffling Allowed : Yes

Question Number : 116 Question Id : 23366712197 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
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Correct Marks : 1 Wrong Marks : 0

The Ancient Indian Political Scientist who wrote Arthashastra, a treatise on statecraft
TR PO w8 FoSRON BEFTR0 TPH PV rEHaD Tradod TYDG JOH?

Options :

. » Barani (2269)

Kautilya (§°€3€.J?S)

2.¢

. . Saptanga (dgroff)

, « Abul Fazl (e922065 H2365)

Question Number : 117 Question Id : 23366712198 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which subject 1s called a “Science of State’?
2y &5 Q' 9D D TR0 DeVFE?
Options :

, Saciology (Arora s o)

, « Social Psychology (Jraore8 &02¢3¢7°R0)

- Anthropology (85°:0 3°Q0)

Political Science (T Sa F°0)

Question Number : 118 Question Id : 23366712199 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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Classical Liberalism is known as the theory of
58S Deddaon D dgrodo @ DeFE?
Options :
., Laissez-faire (S2E-pawd)

, » Division of Labour (5°8) 8 D)

. Relative Deprivation (Jro£ome &od)es ?{g@)

Welfare State (oEs0 o°0)
4. % =

Question Number : 119 Question Id : 23366712200 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Any society consists of heterogeneous cultural groups. which implies :
D DATBRB DD J0R) 1B WDV rd eotwol. T £90ETED.
Options :

| Material Culture (2338 ‘é)o‘:b@e?)

_ Cultural Lag (2020 38800 Dr0Sertndan)

2.

. » Multiculturalism (e330%¥3r0R) ,B5)

, . Counter Culture (5556385 Qo)D)

Question Number : 120 Question Id : 23366712201 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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Which theory suggests that the Government evolved gradually over time as societies grew larger and

more complex?
RBIrEP) DY 00K DogHRorT PSS DB SPOEEPE oot AN AREIALIAR iy

£
) o au )
NIAEIECRNVNES ST

Options :

- Force Theory (e0ersdoed ?0%5"09:‘90)

. Divine Right Theory (8¢ 570, i}t{aﬁ“oejo)

2.

_ Social Contract Theory (SPO7r28 200 grotho)

3.

Evolutionary Theory (D35°0 ‘?ocg’oejo)
4.

Question Number : 121 Question Id : 23366712202 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The principles of government look like a dictatorship system of government.
DTS drgren Jooedydy HILB SOV EIDI 0.

Options :

. » Unitary (DS¢y¢)

, » Federal (doawad)

- Oligarchy (Dﬁ&é&;}ej?so)
, » Theocracy (cr0) 8 TFOD)
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Question Number : 122 Question Id : 23366712203 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Approximately how many countries across the world have a federal political system of government?
DDOVSFROTT ) BT DECS FrOT HIHR VIVERT") 0?

Options :

1. %30
25

20

3. %

[a—
N

Question Number : 123 Question Id : 23366712204 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

According to whom, Democracy is a government of the people, by the people, for the people?
DBILAD[0 05 “PRO BN, PR BB, PR FOD" D PEPIOTDY AELND G JHD?

Options :

_ Otto von Bismarck (E.J%JS'E T DFY6),)

1.

. Tsar Alexander (26 eﬂ@god&

, »Abraham Lincoln (e98)85%a0 o8Q)

, » Nelson Mandela (5&)35 Soo&er)

Question Number : 124 Question Id : 23366712205 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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In Political Science, which group 1s considered an interest group or advocacy group?
TPRS00 FZRES” D DAFIEDY rd Toe HATRD VAP DO E?
Options :

|« In group (2u8 JPATRE DATETAW)
, = Out group (QBEODL BoHR RII°T°0)

, » Pressure group (08¢ £9Aocdy Ddaro)

, » Primary group (PGS D0Ir0)

Question Number : 125 Question Id : 23366712206 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which one of the following is in a position to help in law-making, acts as a watchdog over government
actions, protects rights and liberties?
308 oA’ DB w58y DT 085" VIFOHDEAIA, HLLHC BEFOP DEFDEE BW0A, L 0 BB

DCENORD BPCe06?
Options :

_, Public Opinion (ardgdraio)

, « Trade Union (8& ardado)

_ Social Action (Jr0re€ €6

3.

, » Social Policy (rares doecdo)

Question Number : 126 Question Id : 23366712207 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
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Correct Marks : 1 Wrong Marks : 0

When was the Constitution of India adopted?
2GS Taorio DD D EBoBLC0B?

Options :

e January 26, 1950 (2258 26. 1950)

_ August 15, 1947 (est50 15, 1947)

2.

- September 5. 1935 (?0%30&)5 5, 1935)

, v November 26, 1949 (Ssd0e26 26, 1949)

Question Number : 127 Question Id : 23366712208 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

How many members had been given the task in the Indian Constitution Assembly to prepare the draft of
the constitution?
PGB TarforTrR)) BrHSOND SabeeS Tresjor 2235° dotsaod REgen eolardd?

Options :

Question Number : 128 Question Id : 23366712209 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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Unlike the President of India. the Governors do not have such power.
eGeh mﬁ;&aaé €Y, (100G T 9ASEAL A&7

Options :

. »Military power (28 e9Q5°600)
Executive Power (?dﬁbmsmg 9 SEA0)
2. ®

, « Legislative Power (30 905°Gaw)

L8 Judicial Power (:Jﬁ?socﬁo 9B EA0)

Question Number : 129 Question Id : 23366712210 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

As per Article of the Indian Constitution. the Chief Minister 1s appointed
8 T°a(0(90eS" D 9B DS°Go A[A0H DADIAOBLIETE.

Options :

« 161
, x162
3. 163
v 164

Question Number : 130 Question Id : 23366712211 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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Which commission had been constituted to review the functioning arrangements between the Centre and

the States in India in April 20077
D SRS Sogo BOALD TP BIE] DERNG VowomeR DAE SaDEEIS DS 200765° DoLASLER?

Options :

. » Mandal Commission (00¢ed $09)
- Mukherjee Commission (mgpg E00D)
., Liberhan Commission (dergrd S20:00)

, » Madan Mohan Punchhi Commission (206 207570 D0g) S009)

Economics
Section Id : 233667408
Section Number : 7
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 233667489
Question Shuffling Allowed : Yes

Question Number : 131 Question Id : 23366712212 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The best indicator of the economic development of any country 1s:
B30 308 DDA WrDod &GP ATPDE IE?

Options :
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-, Agriculture (§5rado)

, » Lransport (8sree)

Gross Production (2070 &343)
3. ® @ -2

, »Per Capita Income (8008 estr0io)

Question Number : 132 Question Id : 23366712213 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which one 1s the capital?
20HTDS’ DO TOED0?

Options :
.« Money (&0)
, » Forests (ea¢ia)en)

, » Machinery (aogren)

L Trademarks (S& a6 e0)

Question Number : 133 Question Id : 23366712214 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Interest 1s paid because:
DG Dot BYoSeIcHAIE?

Options :
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., Capital 1s scarce (QurodSo 68 H9)

g01.digialm.com/CAE/viewHtmIPDFAction.action

, « Capital 1s productive (SarwEd0 &T°GSS HY)

- Capital 1s attractive (orregddo Gége‘gcﬁoo )

L Capital 1s surplus (0000 SOFPOE00 HY)

Question Number : 134 Question Id : 23366712215 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Who introduced the concept of utility?
EDATCA 9 2P DA 8B BFE?

Options :

| » Adam Smith — ¢t )&
 Daniel Bernoulli — &da%¢5 83(31’&@
2. &

Alfred Marshall — 9360_)5, mge_'i_

3.

, » Philip Kotler — 080 g6

Question Number : 135 Question Id : 23366712216 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

According to Ricardian theory, rent is primarily determined by:
857805 dgroto P5°Co &Ko DB

Options :
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. The cost of producing goods on the land (20 @508 eSS DY)

1.

Difference in fertility of different lands
| DG S Frane | ok SeG {0

2.¢

e Supply of labor for agriculture (aﬁﬁéﬁ"cﬁrbé 5°0), Sov EDV)

. Market price of agricultural goods (:J?S;Jﬁ“cm DDV :_1?62565 @t}

4.

Question Number : 136 Question Id : 23366712217 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

National income implies:
201 e3TPa30 €9063:

Options :
.. Income of the Government (208 esTraddo)

i Budget of the Government (250&5¢ E.J(E,QS)

2.

- Total of factor income (2903~ e300 o)

, Profit of public sector units (0] Sof e3°230)

4.

Question Number : 137 Question Id : 23366712218 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The per capita income shows:
S8 esmraDo BAD AFDH:
Options :
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Living conditions of the people (D20 &5 E)@%:}me)
1. & :

, » Living standard of the rich (8Q%e & o)
. « Living standard of the poor (265578 2 HI°e0)

, » Living standards of the people (D& 25 HO°e0)

Question Number : 138 Question Id : 23366712219 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

High inflation levels in the economy lead to in the supply of money.
2308 HINDVES” AS BT JOnE0 DY G VDTS’ 5008.

@ o o _— —o
Options :

.« Increase (DD EW)

. Decrease (ejl:}JCSU)

2.

. « No Change (2 &o°dry &)

, » Market fluctuations (&’1?6695 &3ferd))

Question Number : 139 Question Id : 23366712220 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The RBI can take the measure of to control inflation.
I ONET) DaboBoscedE RBI SR0I e3dy;
Options :
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.~ Rationing of credit (20308 08B D&odcio)

Introducing progressive tax (€3608 DAY Do)

2.8

- Improving public sector profits (220 Sof &reren o))

.o ontrolling public expenditure (DS ENL DoDoges)

Question Number : 140 Question Id : 23366712221 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

A stock market index
206 &°8).65 RArLdE:
Options :

. Shows trends in the market (&ﬁ.‘)“’abés & Geen BIr)H00d)

1.

- Provides weights to shares (22850 Densd Dohedrod)

i} Shows trade volume (av?@“d 008,30 A0 D)

3.

, » Shows share transactions (226 errar@den Bra)Bod)

Question Number : 141 Question Id : 23366712222 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following could not be considered a major economic system?
So8 TS DB VIRV €588 (DD TE?

Options :
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Capitalism (DeeEord esdE S[OR)
% & & S

1.

,xC ommunism (SM?Si)ao)
. » Socialism (Jrar&$a°c0)

, ., Physical Quality of Life Index (P88 258 Treajed 2uords)

Question Number : 142 Question Id : 23366712223 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Economic development refers to:
e305°Day 8 90€3:
@ [~
Options :
. Economic growth (ejgé of);,g:)
Growth + output distribution change
o 8 S0B050 e98)e03ES Dokes SrEryen

Urban well-being (Dee 9323&’3;,%)

3. %

. Sustainable GNP growth (225 f‘é)d &'.‘Jatg)

4,

Question Number : 143 Question Id : 23366712224 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of these 1s the regulatory body for the capital markets in India?
B3B38 QPO HIPG) 5 Daogen Do DE?
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Options :

.« NABARD
, » SEBI
.« IRDA

4$$RBI

Question Number : 144 Question Id : 23366712225 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

When was NIFTY established?
NIFTY D?Q)bcb g"i}o:ﬁmdo&‘?
Options :

L« 1992
, «1998
.+ 1996

4« 1994

Question Number : 145 Question Id : 23366712226 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which market allows trading of securities with less than one year maturity?
D &0 2,8 VoD G0 Lot L) H BN (o DEFBBVE TG0 SOOI
Options :

. Global market — F:f 265 :1?62365
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, » Money market — dric% &°0),€5

, » Capital market — QOGS HI°0) 6

L Transaction market — erar3D :_15‘“6685

Question Number : 146 Question Id : 23366712227 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following 1s a pull factor for migration?
308 B’ B Terod (pull) S°6eso &?
Options :

.« Religious persecution (s0¢ ¢&)
, » Natural Disaster (D8 D)

, » Job Opportunities (&Sﬁﬁ 9355 F°eN)

i Armed Conflicts (cﬁng‘m)

4.

Question Number : 147 Question Id : 23366712228 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which was the tirst EPZ (Export Processing Zone) of Asia?
eI0IS” ADHANE DS FV0A &' (EPZ) D&?
Options :

. » Kandla — srog®

, « Kolkata — Sosze
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- Chennai — aé‘l

.8 Kochi — §°r.°.')r)

Question Number : 148 Question Id : 23366712229 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The difference between the highest and lowest values 1n a distribution 1s:
28 20" (18 HBA%N IR Dewde &y S

Options :

. Range (066)
, « Arithmetic Mean (e208¢5g3¢3 c60)

- Median (5113(;55 D)

, « Mode (RECIeeSe Densd)

Question Number : 149 Question Id : 23366712230 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Positional Average means:
SESESIgEVE L

Options :

.« Mean Deviation (Rrfew sS{@{mo)

., Standard Deviation (S0°eds dyEe§Ro)
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Quartile Deviation (5“566 S(E(R0)
% &

3.

i Median (OGS Ded)

Question Number : 150 Question Id : 23366712231 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Three Median minus Two Mean 1s called:
S0TPED SOEE DEVHEN DD Bo DELLLR DoEFE?

Options :

, Empirical Mode (e9:083a°e3) & R06Q JeeEes Dend)
|

, » Harmonic Mean (388, D5 2r5e)

, Geometric Mean (2§03 Qrie)

3.

, « Weighted Mean (20600 driew)
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